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8049| EEEIF BI/ vy —SHlHESR 6.970 m2 389 2,711
H JEA - 4B 8K L E 117,838
B i 1.0 m&4l) 13,702
BiORNFHEEDELE 6,937
B AEBRMEDOEEE 6,149
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7175 |7 LA+ AN M-V ELFE T TIREFANEEE KE
1—FNo | (#E1&E) rrJovy H+JJ0vs 1 R B L
B-800 iR 57 EhE 433 10 m
H {fiNo £ i y5i % B = B B * E fim =
3822|7 Vv AN —F LV EHE B-800 5.000 & 27,900 139,500
* 24| T K— R ERIR SHSEIAFHE 0.220 A 27,090 5,960
* 1455 EXE SHSEIAFE 0.220 A 22,995 5,059
* 21 EBEXES SHSEIAFHE 0.670 A 19,425 13,015
*x 2459\ yhRn EHIL-U1T] 1L1F50.8m3[0.6m3] F AE $12.9t 0.220| #FEH 11,544 2,540
1000|538 # % WELLEIoRTAES 16.000 % 26,574 4,252
8018[ar v )—MINEVEEY BI/ vy —SHiEsESR 1.060 m3 38,800 41,128
8046| B (L) —}) I Avyr—CHifistESR 0.250 m2 4211 1,053
3803|441 —k 24-8-25(20) BB 0.090 m3 22,400 2,016
H JEA - 4B 8K L E 214,523
B i 1.0 m&4l) 21,452
BiORNFHEEDELE 3,704
B AEBRMEDOEEE 16,911
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ZiE 57 IR 433 1=
H {fiNo £ i y5i % m = B B * E fim =
2034|Gr-C-4E[L MR = k2R 20.000 m 1,313 26,260(1,250%1.05
8041 |&H 2 hR A 2 I/ Swr—SElHESR 88.900 m2 172 15,291
8042 | & 2% hik U] it I/ Swr—SEmHESR 9.300 m 555 5,162
5243| K& X DS5HEE INVIRIBE 4.000 % 681 2,724
8043 | BB ik I/ Swr—SEmHESR 10.700 m3 4,563 48,824
8044 |IRI5 R4 T - THE OB (BXBEM) [T/ vy —CHifistEs R 1.000 @] 11,310 11,310
3847|NIBFZ NN E T AIT7ILEER 25.100 t 1,200 30,120
3848 MIFIZ NN E ikl 0.260 t 12,000 3,120
3849 | IBFZ N H & BIS 0.008 t 30,000 240
H JEA - 4B 8K L E 143,051
B i 1.0 XHY 143,051
BMOANFTHEEDNDEE 44,947
B AEBRMEDOEEE 45,867
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Eih m3 111.57 117.70] 8004/ T/ 3-003-1
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EERR EXZ AN TONIE
EIEE -
BEDHE -
BEM RERIE BRLL FEE Tl
K(#4k) «E: B 2557
K1 Nk (HO—S58) ($Z£ R GREER TR - B A R EE (2011 ER4%1) ] 1LFE0.8m3 (FF50.6m3) ES 2557 9,160 10,504
K2 - -
K3 — -
R(57%) 50.73
R1 EELF ($F5%) 50.73 24,600 23,310
R2 - -
R3 - -
R4 - -
Z(#t#h) 23.70
Z1 A 1. 28 /\rO—)LESH 23.70 115 136
72 - -
Z3 - -
Z4 - -
S(h 15 B fiff) - —
FTEK
BEEME = 11157 x  {( 2557  x _ 10504 + — x 0 + — X 0 )X __2557
100 9,160 100 == 100 == 25.57 + == + ==
+ ( 50.73 x _ 23310 + = X 0 + = X 0 + = X 0 ) x 50.73
100 24,600 100 == 100 == 100 == 50.73 + == + == + ==
+ ( 23.70 X 136 + — X 0 + — X 0 + — X 0 ) x 23.70
100 115 100 == 100 == 100 == 23.70 + == + == + ==
+ — X 0 + 100 — 25.57 — 50.73 — 23.70 0.00 }
100 0 100
EEEM = 117.70
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_ ZHER
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K «E: B 6.39
K1 IR (Y O—S8) (FRER - PR R R (B 1REEE)] 1LF50.45m3 (FH50.35m3) 5.69 9,990 9,700
K2 BUNRUISY BE=60~80kg * 0.70 471 658
K3 — —
R(57%) 90.60
R1 TREXE 55.05 21,600 19,425
R2 BHHREES 26.96 24,700 22995
R3 EELF ($F55%) 8.59 24,600 23,310
R4 - -
Z(# ) 3.01
Z1 Eiim 1. 285 /\hbO—)LEAH 2.30 115 136
72 AV LF¥Fras5— REUR 0.71 131 149
Z3 - -
Z4 - -
S(h 15 B fif) - —
HECE:S
TRE B 274840 x {( 5.69 X __ 9700 + 0.70 x 658 + — X 0 )X 6.39
100 9,990 100 471 100 == 5.69 + 0.70 + ==
+ ( 55.05 X 19,425 + 26.96 X 22,995 + 8.59 X 23310 + = X 0 ) x 90.60
100 21,600 100 24,700 100 24,600 100 == 55.05 + 26.96 + 8.59 + ==
+ ( 2.30 X 136 + 0.71 X 149 + = X 0 + — X 0 ) x 3.01
100 115 100 131 100 == 100 == 2.30 + 0.71 + == + ==
+ — X 0 + 100 — 6.39 — 90.60 — 3.01 0.00 }
100 0 100
TRE B 2,550.00
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22 7) N EIEEY) m3 29,703.00]  38,800.00] 8018|fE T /\-141-52
ZHER
EEYiER| IMEIEEY) _
TR T Ny YRl HERERDIT 3%
eV YL 18-8-40(Z (F) MR E M FH)
RETHITERE -
%EI@EB‘*‘EL — B
EEEEREREX S -
Hi5N B DA _ -
ITERE S KFEITEREERE -
B 55 11 REHE B | HEEm Bk
K(#4k) «E: B 431
K‘I NyOiR(HO—S8) 2R - BIEFREE - L — BT - PEE A R A EE(2011 £ 38 51)] 1LFK0.8m3(FFH0.6m3) A AL H2.9t * 407 9,940 ‘| ‘| ,544
K2 - -
K3 — —
R(57%) 39.87
R1 TEIEXEER 11.78 21,600 19,425
R2 BHHREES 10.81 24,700 22995
R3 T R—ARHEER 7.98 25,500 27,090
R4 1EELF (4F5%) 6.70 24,600 23,310
ACZES)) o 55.82
Z1 £33 491)—F BfF 18—8—40 W./C 60% 53.94 15,100 23,900
72 BA 1. 28 /\rO—)LEGH 1.78 115 136
73 - -
Z4 - -
S(h 15 B fiff) - —
HECE:S
BEEM = 2970300 x {( 4.07 x _ 11544 + — X 0 + — x 0 ) x 4.31
100 9,940 100 == 100 == 4.07 + == + ==
+ ( 11.78 X 19,425 + 10.81 X 22,995 + 7.98 X 27,090 + 6.70 X 23,310 ) x 39.87
100 21,600 100 24,700 100 25,500 100 24,600 11.78 + 10.81 + 7.98 + 6.70
+ ( 53.94 X _ 23,900 + 1.78 X 136 + = X 0 + — X 0 ) x 55.82
100 15,100 100 115 100 == 100 == 53.94 + 1.78 + == + ==
+ — X 0 + 100 — 4.31 — 39.87 — 55.82 0.00 }
100 0 100
FEEEM = 3880000
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B m2 7,866.70 7,483.00] 8019 L /8-143-2
ZHER
BNDIER — AR R4
BEYDIELE INEEEYD
B 55 11 REHE B | HEEm Bk
K *E1: 5 0.00
K1 - -
K2 - -
K3 — —
R(757%) 100.00
R1 BhH<{IT 4515 26,300 25,200
R2 EBEES 30.47 21,600 19,425
R3 TR —ARHERR 11.34 25,500 27,090
R4 - -
Z(# ) 0.00
Z1 - -
72 - -
73 - -
Z4 - -
S(h 15 B fiff) - —
FTEK
WEEM = 786670 x - x 0 + = x 0 + = x 0 )x __0.00
100 = 100 = 100 = = + s + =
+ ( 45.15 X _ 25,200 + 3047 X 19,425 + 11.34 X 27,090 + = X 0 ) x 100.00
100 26,300 100 21,600 100 25,500 100 == 4515 + 3047 + 11.34 + ==
+ — X 0 + = X 0 + —— X 0 + — X 0 ) x 0.00
100 = 100 = 100 = 100 = = 3 — Bl - + =
+ — X 0 + 100 — 0.00 — 100.00 — 0.00 0.00 }
100 0 100

EHEEE = 7483.00
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R [E (HE - BRI m2 1,513.40 1,831.00] 8024|fE T /%-189-83
_ ZHERS
EHEE 3.0mi8
1BYYFEHTEEYE 4cm
#E %E%*ﬁrﬁn:y(w)
BEEMEESE 754 52— PK-3
B 55 11 REHE B | HEEm Bk
K(#4k) «E: B 1.64
K1 FTRIFZIVNT4=y v R/ —)LE - BERF B - BEHE H A5 5B (2014538 H)) ] $HZE182.3~6.0m E 3 1.05 30,600 33,1 76
K2 A4 O—5[EEBE - BIEESE - P A EE (20114 3341) ] EE13t * 0.16 4810 5262
K3 O—RO—3[IHh% L BIEESE - S A AR R (B2RA%E)] 210t HEDIE21m * 0.16 4,485 5,273
R(F575) 10.38
R1 TREXE 3.72 21,600 19,425
R2 BHHREES 2.12 24,700 22995
R3 EELF ($F55%) 2.09 24,600 23310
R4 T R—A%HEER 0.72 25,500 27,090
Z(# ) 87.98
Z1 TFAI7ILNEEY) BEZHEASESY(13) 79.82 480,000 600,000
72 TAI77ILLEF PK—3 54 La—E 7.61 92 109
Z3 Bim 1. 25 /\bO—)LEAH 0.46 115 136
Z4 -
S(ri 35 B {ifi) -
HECE:S
BEEM = 151340 x {( 1.05 X _ 33176 _ + 0.16 5,262 + 0.16 1.64
100 30,600 100 4810 100 1.05 + 0.16 0.16
+ ( 3.72 X 19,425 + 2.12 22,995 + 2.09 0.72 X 27,090 10.38
100 21,600 100 24,700 100 100 25,500 3.72 + 212 + 2.09 + 0.72
+ ( 79.82 X _ 600,000 + 7.61 109 + 0.46 — X 0 87.98
100 480,000 100 92 100 100 == 79.82 + 7.61 + 0.46 + ==
+ — X 0 + 100 1.64 — 10.38 0.00 }
100 0 100
EEEM = 1831.00
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EIXS 1EET
BEEMEESE -
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K(#4k) «E: B 10.36
K1 TS L—F [T IR -HHH A ER (E2REEE)] TL—RIE3.1m 419 18,300 17,900
K2 O—KRA—3[THF L-BEHA R ER (F2REEE) ] BEHEEE10t FHEHIF2.1m 3.24 13,600 13,600
K3 BAYO—S[E@EE - P AT ER (Fo2REHE(E)] BE8~20t * 1.06 4,420 5,200
R(57%) 31.02
R1 EELF ($F5%) 14.32 24,600 23310
R2 BHHREES 497 24,700 22995
R3 TEIEXER 474 21,600 19,425
R4 T R—A%HEER 1.40 25,500 27,090
ACZES)) _ 58.62
Z1 BHERNERERA RM—30 55.88 240,000 774,000
72 Bim 1. 25 /\bO—)LEAH 2.25 115 136
73 - -
Z4 - -
S(ri 45 5 i) - -
HECE:S
EEEME = 545.99 x {( 4.19 X 17,900 + 3.24 X 13,600 + 1.06 5,200 ) x 10.36
100 18,300 100 13,600 100 4,420 419 + 3.24 + 1.06
+ ( 14.32 x _ 23310 + 4.97 X 22,995 + 4.74 19,425 + 1.40 X 27,090 ) x 31.02
100 24,600 100 24,700 100 21,600 100 25,500 14.32 + 497 + 474 + 1.40
+ ( 55.88 X _774000 + 2.25 X 136 + = 0 + — X 0 ) x 58.62
100 240,000 100 115 100 == 100 == 55.88 + 2.25 + == + ==
+ — X 0 + 100 — 10.36 — 31.02 58.62 0.00 }
100 0 100
EEEM = 122400
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A - A (BBH) m3 6,585.40 15,000.00] 8040|JitE T 7 \-043-1
ZEXS
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AA - 5A #4 RR A

BARA RC-40

BHEM RERIE BRLL FEE Tl
K «E: B 10.16
K1 SNy (HO—FE) RER - JL—UHHER - A AR B (3 REHEE) ] 1LHR08m3 (FHE06m3) MHEN29t * 10.16 9,840 11,544
K2 - -
K3 - _
R(57%) 66.13
R1 TREXE 39.39 21,600 19,425
R2 BHHREES 15.00 24,700 22995
R3 EELF ($F55%) 11.20 24,600 23310
R4 - _
Z(#t#h) 23.71
Z1 BXEYSvv¥T2 RC—40 20.40 1,200 8,900
72 Bim 1. 25 /\bO—)LEAH 3.31 115 136
Z3 - -
Z4 - _
§(Fﬁi§-$1ﬁ) - -
HECE:S
TRE B 6,58540 X {( 1016 X _ 11544 + — X 0 + — 0 )X __10.16
100 9,840 100 == 100 == 10.16 + == + ==
+ ( 39.39 X 19,425 + 15.00 X 22,995 + 11.20 23310 + = X 0 ) x 66.13
100 21,600 100 24,700 100 24,600 100 == 39.39 + 15.00 + 11.20 + ==
+ ( 20.40 X 8,900 + 3.31 X 136 + = 0 + — X 0 ) x 23.71
100 1,200 100 115 100 == 100 == 20.40 + 3.31 + == + ==
+ — X 0 + 100 — 10.16 — 66.13 23.71 0.00 }
100 0 100
TRE B 15,000.00
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K «EN. B 9.54
K1 IR (HO—F8) [BREER - HEH A Rt 58 (F3REHENE) ] 1LFH0.45m3 (TLFE0.35m3) * 954 5,420 6,417
K2 - -
K3 — —
R(57%) 82.52
R1 T R—ARHEER 29.36 25,500 27,090
R2 EELF ($F55%) 28.31 24,600 23,310
R3 TEIEXER 2485 21,600 19,425
R4 - -
Z(#t#h) 7.94
Z1 BiM 1. 25 /\bO—)LEAH 7.94 115 136
72 - -
Z3 - -
Z4 - -
S(h 15 B fif) - —
HECE:S
EHEEME = 17031 x  {( 954  x _ 6417 + — X 0 + - X 0 )X __ 954
100 5,420 100 == 100 == 9.54 + == + ==
+ ( 29.36 X _ 27,090 + 28.31 X 23310 + 24.85 X 19,425 + = X 0 ) x 82.52
100 25,500 100 24,600 100 21,600 100 == 29.36 + 28.31 + 2485 + ==
+ ( 7.94 X 136 + — X 0 + — X 0 + — X 0 ) x 7.94
100 15 100 - 100 - 100 - 794  + - + - + -
+ — X 0 + 100 — 9.54 — 82.52 — 7.94 0.00 }
100 0 100
EEEM = 17210
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EEAE
S hRE R 7A77 I EREE R
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A= MTRIZLNAN ) EEERR D LA |-

BHEM RERIE BRLL FEE Tl
K(#4k) «E: B 6.20
K1 V) =AY ANAF 21— LK BK] CIEIE20cm#BE T L—R&E56cm 419 5,460 5,460
K2 - -
K3 — —
R(57%) 54.85
R1 FIRERR 19.02 24,700 22,995
R2 T R—ARHEER 9.77 25,500 27,090
R3 TEIEXER 8.28 21,600 19,425
R4 - -
ACZES)) R 38.95
Z1 aV9)—bhva (JL—k) #2247 36.13 85,200 85,250
72 AV LF¥Fras5— REUR 1.91 131 149
73 - -
Z4 - -
§(Fﬁi§-$1ﬁ) - -
HECE:S
BEEM = 56594 x {( 4.19 X __ 5460  + — x 0 + — X 0 )X 6.20
100 5,460 100 == 100 == 419 + == + ==
+ ( 19.02 X _ 22995 + 9.77 X 27,090 + 8.28 X 19,425 + = X 0 ) x 54.85
100 24,700 100 25,500 100 21,600 100 == 19.02 + 9.77 + 8.28 + ==
+ ( 36.13 X _ 85,250 + 1.91 X 149 + = X 0 + — X 0 ) x 38.95
100 85,200 100 131 100 == 100 == 36.13 + 1.91 + == + ==
+ — X 0 + 100 — 6.20 — 54.85 — 38.95 0.00 }
100 0 100
EEEM = 554.80
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TS i B B 22 0kmEL T
5 RKE\HRE i1 A18 HAEH g
K *E1: 5 47.26
K1 BUTNSYo[Arn—R-To—HEIL] 10tHEHR (B VEEERVHEEE (B ESED) 4726 20,400 20,000
K2 - -
K3 - —
R(F7%) 37.92
R1 B F (—AR) 37.92 20,300 21,525
R2 - -
R3 - -
R4 — -
Z(# ) 14.82
Z1 BH 1. 25 /N\rO—ILERH 14.82 115 136
72 - -
Z3 - -
74 - —
S(h 15 B fiff) - —
TERX
EEEM = 438420 x {( __4726 x _20000 + — x 0 + - x 0 )X _ 47.26
100 20,400 100 == 100 == 47.26 + == + ==
+ ( 37.92 X _ 21525 + = X 0 + = X 0 + = X 0 ) x 37.92
100 20,300 100 == 100 == 100 == 37.92 + == + == + ==
+ ( 14.82 X 136 + — X 0 + — X 0 + = X 0 ) x 14.82
100 115 100 == 100 == 100 == 14.82 + == + == + ==
+ — X 0 + 100 — 47.26 — 37.92 — 14.82 0.00 }
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EHEE = 4563.00
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BB R4 S - 0SB (BREH) E 11,937.00 11,310.00] 8044 T /3-294-35
‘ ZEXSD
PV EE _ IL—VEBE A -ANYI2t3E R EE N 2((EE) RIS KL=3.0m RIS MTEW=1.6m
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B4 RESEES ¥kt HAEH =hE
K(#4k) «E: B 12.72
K1 rowO[HOL—28EER] R—XM5972t8k BEES2.0t 12.72 6,030 6,080
K2 - -
K3 — -
R(57%) 82.45
R1 EELF ($F5%) 41.92 24,600 23310
R2 TREXE 40.53 21,600 19,425
R3 - -
R4 - -
Z(# ) 483
Z1 Bm 1. 25 /\hO—)LiGiH 4.83 115 136
72 - -
Z3 - -
Z4 - —
S(h 15 B fif) - —
HECE:S
TRE B 11,93700 x {( 1272 X __ 6080  + — x 0 + — X 0 YX __12.72
100 6,030 100 == 100 == 12.72 + == + ==
+ ( 41.92 x _ 23310 + 4053 X 19,425 + = X 0 + = X 0 ) x 82.45
100 24,600 100 21,600 100 == 100 == 41.92 + 4053 + == + ==
+ ( 4.83 X 136 + = X 0 + — X 0 + = X 0 )X 4.83
100 15 100 - 100 - 100 - 483  + - + - + -
+ — X 0 + 100 — 12.72 — 82.45 — 4.83 0.00 }
100 0 100
TRE B 11,310.00
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K *E1: 5 0.00
K1 - -
K2 - -
K3 — —
R(F575) 100.00
R1 BhH<{T 59.46 26,300 25,200
R2 TEIEXE 19.53 21,600 19,425
R3 T R—ARHEER 5.76 25,500 27,090
R4 - _
Z(# ) 0.00
Z1 - -
72 - -
73 - -
Z4 - -
S(h 15 B fif) - —
FTEK
BEEEM = 442380 x {( — X 0 + — x 0 + — x 0 )X 0.00
100 = 100 = 100 = = + s + =
+ ( 59.46 X _ 25,200 + 19.53 X 19,425 + 5.76 X 27,090 + = X 0 ) x 100.00
100 26,300 100 21,600 100 25,500 100 == 59.46 + 19.53 + 5.76 + ==
+ — X 0 + = X 0 + —— X 0 + — X 0 ) x 0.00
100 = 100 = 100 = 100 = = 3 — Bl - + =
+ — X 0 + 100 — 0.00 — 100.00 — 0.00 0.00 }
100 0 100

WHEE = 4211.00
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ZHERS
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K1 -
K2 -
K3 —
R(F7%) 100.00
R1 TEIEXE 100.00 21,600 19,425
R2 -
R3 -
R4 -
Z(# ) 0.00
Z1 -
72 -
Z3 -
Z4 -
S(h 35 i i) -
FTEK
BEEM = 43200 x {( — 0 + — 0 + — 0.00
100 — 100 — 100 —= + — —=
+ ( 100.00 19,425 + = 0 + = — X 0 100.00
100 21,600 100 == 100 100 == 100.00 + == + == + ==
+ == 0 +_ - 0 + = — x 0 0.00
100 == 100 == 100 100 == == + == + — + —
+ — + 100 0.00 — 100.00 0.00 }
100 100
EEEM = 38850
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